Exercice 1:

La Simple Distributivité

Développer et réduire les expressions suivantes :

A=4(zx +3)

B=23z+T7)

C =32z +7)

D =4(3z + 1)

E = 7(3z — 4)

F = 5(2z —3)

G = 4(—2z +3)

H = 3(=3z +7)

I =6(-3x—-T7)

J = 5(—2z —3)
Solution :
A=4z+3) B
A=dxr+4x3 FE
A=dr+12 i}
D = 4(3z + 1) i
D=4d=x3z+4x1 £
D=12xr+4 5

G = 4(—2z + 3)
G=4dx(—2r)+4x3

G=—8zr+12

J =5(—2x — 3)

J =5(=2z + (—3))
J=5x%x(—2z)+5x(-3)
J=—10r— 15

M = —3(3z +2)
M=-3x3zx+(-3)x2
M=-08z—-6

P = -2(3z—5)

P =-2(3z+ (—5))
P=-2x3r+(-2) x (—5)
P =—6x+ 10

=2z +7)
=2xr+2xT
=2r+14

7(3z — 4)

T(3x + (—4))
Tx3x+Tx(—4)
21 — 28

H=3-3z+T)
H=3x(-3z)+3x"7

H=-9+21
K = -2(x+5)
K=-2xx+(-2) x5
K =-=-2r—-10

N =—4(2z +T)
N=—dx2zr+(—4)x7

N =—8x—28
Q=-T(—2z +3)
Q==Tx(-2z)+(-T) %3
)= l1dr —21

K = —2(z +5)
L=-3(z+7)

M = —3(3x +2)
N = —4(2z +7)
O = —4(Tx — 1)
P = —2(3z —5)
Q = —7(—2z +3)
R = —3(—5r + §)
S = —4(—3z —5)
= —7(=2x—7)

C=302z+T)
C=3x2x+3 =7

C =6z + 21

F =5(2r-13)

F =502z +(-3))
Fr=5x2r+5x(-3)
F=10x-15

I =6(—3x—-T)
I=6x(=3c)+6x(=T)
I =-18z—42
L=—3(z+7)
L=-3xx+(-3)xT
L=-3zx-21

O =—4(7x —1)

O = —4(Tz + (—1))
O =—4d xTr+(—4) x (=1)
O =—281 + 4

R =—=3(—5x + 8)
R =—3x (=5z) +
=1 —24

(—=3) x 8



S = —4(—3z —5) T =—7(—2z—1T)

S =—4(=3z + (-5)) T'=-T(-2z+ (-T7))

S =—d x (=3x)+ (—4) x (—=5H) T'==7x(=2z) +(=7) x (=7)
S=12xr+ 20 1= 1dx + 49

La double Distributivité

Exercice 2 ;:

Développer et réduire les expressions suivantes :

A= (z+4)(y+T7) K = (—3x + 1)(=5x + 4)
B = (22 +5)(y + 4) L =(=2z—1)(=3z+7)
C=(3r+7)(2r+1) M = (=bx —2)(—4x - 3)
D=(x—3)(y+7) N =(=3x+T)(—6x—1)
E=(xr—>5)(x—4) O = (=9 + T)(—6x + 7
F = (2x —3)(3x +5) P=(-Tr—=3)(2r-T7)
G = (3 — 7)(2x — 4) Q = (=5x + 1)(1 — 4x)
H = (2x — 3)(—5z + 1) R=(2+3z)(4dr — 1)
I'=(5z — 2)(—3x —4) = (2r + 3)(—Tx —4)

J = (—dx +2)(2x + T) 1'=(3—=5x)(4—Tx)

Solution :

A=(z+4)(y+T)
A=z xy+aoxT+dxy+4dxT
A=gy+Tc+ 4y + 28

C=3Br+T7)(2r+1)
C=3rx2r4+3rx1+Tx2r+7Tx1l
C=6x>+3r+1dr+7
C=6s2+1Tec+T

E=(x=5)xz—41)
F=rxxrt—xrxd4-=5
E =% —dr — 5z +20
E=z>=9x+20

o+ 5bxd

G = (3 —T7)(2x — 1)
G=3rx2r—3rxd—-—Tx2x+7Tx4d
G = 622 — 12z — 14 + 28

G = 67 — 26z + 28

(2r +5)(y +4)
2rxy+2rxd4+5xy+5xd
2y 4 8 + by + 20

B
B
B

D= (r—3)(y+7)
D=sxy+oxT—3xy—3x7T
D=zy+Tr—3y—21

F = (2 —-3)(3r +5)
F=2rx3x+2rxb—3x3r—3 x5
F =622+ 10z — 9z — 15
F=624z-15

H = (2r —3)(—5z+ 1)

H=2rx(=5r)+2rx1-3x(-5r)—3x1

—10x2 + 27 + 15x =3
—10:%2 + 172 —3

H
H



I = (5x —2)(—3x—4) J=(—dx+2)(2z+7)

I =5 x(=3z)+0rx(=4)=2x(-3zr)=2x%x(-4) J=—do x2x—dr xT+2x2x+2x 7T
I = =152 — 20 + 6:r + 8 J=—8z2 - 28z + 4r + 14
= —1522 — 142 + 8 J=—8z2—24x+ 14
K = (—3z +1)(—5x + 4) L= (-2x—-1)(-3z+T7)
K =-3xx (=5z) —3x x4+ 1x (=5z) +1 x4 L=-2rx(=3c)=20rxT—1x(=3z)—1xT7
K =152%2 — 120 — 5z + 4 L=6x>—14x+3z—-7
K =152%2 — 17z + 4 L=6z2—11x—-7

M = (=bx — 2)(—4r — 3) N = (=32 + 7)(=6x — 1)

M = =5z x (—4x) — 5&r x (—3) —2 x (—4x) — 2 x (=3) ’\=—3.rx( 6xr) =3z x (=1)+ 7 x (=6z) + 7 x (—1)
M = 2022 + 150 + 8z + 6 N=18:2+32—42: -7

M =200 +232 +6 N = 1822 -39r -7

O = (—9z +T)(—6x +T7) P=(-7x—-3)(2r-7)

O=—-9z x (—6x) — 9z xT+T7x (—6x)+Tx 7 P=-Tzx2zx—Tz x (—7)—3 x 2z —3 x (—T7)
O = 54x? — 63z — 42 + 49 P = —14x? + 49z — 6z + 21

O = 5422 — 105z + 49 P=—142% + 43z + 21

Q = (—5x +1)(1 — 4x) R=(2+3z)dz—1)
Q=-5zx1—-5zx(—4x)+1x1+1x(—4r) R=2x4x+2 x (—=1) + 3z x dx + 3z x (—1)
Q = —bx +20x® +1 —dx R=8t—2+12s> -3z

Q=20x> -9z +1 R =12z% + 51 — 2

= (2z +3)(—Tx —4) 1'=(3-5z)(4—Tx)
S=2rx(=Tr)+2r x(—4)+3x (=Tr)+3x(=4) '=3x4+3 x(-Tx)— 51')(-1—51')(( Tx)
S = —=14x% — 8z — 21x — 12 T =12 — 21a — 20 + 35z
S = —14z2 — 297 — 12 T = 3522 — 41x + 12



